CLASS NOTES

Class: VIlI Topic: Revision worksheet
(Reading comprehension, MCQs from
Subject: English ‘Festival of Eid’, ‘Invictus’ & ‘What is
peace’, Rearrange the jumbled words &
Editing)

Q.1 Read the passage given below and answer the question that follows:

(i) Sniffer dog Tucker uses his nose to help researchers find out why a killer whale population off
the northwest coast of the United States is on the decline. He searches for whale faeces floating on
the surface of the water, which are then collected for examination. He is one of the elite team of
detection dogs used by scientists studying several species including right whales and killer whales.
Conservation canines are fast becoming indispensable tools for biologists according to Aimee Hurt,
associate director and co-founder of Working Dogs for Conservation, based in Three Forks,
Montana.Over the last few years, though, so many new conservations dog projects have sprung up
that Hurt can no longer keep track of them all. Her organisation’s dogs and their handlers are fully
booked to assist field researchers into 2012.

(ii) “Dogs have such a phenomenal sense of smell,” explained Sam Wasser, Director of the Centre
for Conservation Biology at the University of Washington in Seattle. He has worked with scat-
detection dogs since 1999. Scientists have been using Conservation Canines in their research since
1999. These dogs have enabled them to non-invasively access vast amount of genetic and
physiological information which is used to tackle conservation problems around the world. Such
information has proved vital for determining the causes and consequences of human disturbances
on wildlife as well as the actions needed to mitigate such impacts.

(iii) The ideal detection dog is extremely energetic with an excessive play drive. These dogs will
happily work all day long, motivated by the expectation of a ball game as a reward for sample
detection. The obsessive, high energy personalities of detection dogs also make them difficult to
maintain as pets. As a result, they frequently find themselves abandoned to animal shelters, facing
euthanasia. The programme rescues these dogs and offers them a satisfying career in conservation
research. A superior sense of smell is a tremendous gift, and dogs can boast of that. You will also
be surprised to learn that the sniffing dogs have a highly accurate sense of smell. The accuracy in
their smelling senses is 10,000 times more accurate than that of humans. The higher accuracy
means their results when involved with security exercises are top-notch.The drug-detecting dogs,
therefore, can search an area way faster compared to humans. Security personnel thus cut the
time they use to frisk people by more than half. In addition to doing it quickly, they do so with
greater accuracy, and you could rely on them for security.

1.Based on the above passage, fill in the given blanks-

(a) According to the text, there are a few detection dogs like Tucker.
(b) Tucker sniffs for whale

(c) The dogs are special because they assist in research without

(d) The ideal detection dog




(e) The dogs expect as a reward of their hard work.

(f) of these dogs make it difficult to keep them as pets.
(g) These dogs find career in

(h) The word ‘euthanasia’ means

2. Choose the word from the passage (ii) which is the synonym of ‘reduce’?
a) non-invasively

b) vital

c) consequences

d) mitigate

Q.2 Answer the following questions by choosing the correct answer-

1) How many pice does Mahmood have?
a) ten

b) twelve

c) five

2) Who wrote “Festival of Eid”?
(a) Rabindranath Tagore
(b)William Shakespeare

(c) Munshi Premchand

3) “You burn your fingers on the iron plate. That is why | bought them.”
Who said these lines?

a) Noorey

b) Mohsin

c) Hamid

4) The people who belong to religious groups that live on charity are called
a) vagabonds

b) tribals

c) mendicants

5) State the literary device used in the line, “looms but the horror of the shade.”
(a)Personification

(b)Metaphor

(c)Oxymoron

6) “What is peace?” is written by
(a) Prema Subramanian

(b) Prema Manian

(c) Premy Balasubramanian

7) Consensus means
(a) a general meeting
(b) discuss

(c) resolving




8) What is the meaning of the word ‘Namaste’?
a) | salute you

b) | bow to the divine in you

c) | bow to die for you

9) What did Noorey buy from the fair?
a) a policeman

b) a soldier

c) a lawyer

10) ‘Agog’ means

a) dirty

b) extremely scared

c) very excited and curious

11) Which poetic device is used in ‘Curiosity killed the cat’-
a) Consonance

b) Assonance

c) Imagery

12) ‘Invictus’ is written by William Ernest Henley while he was in
a) a warzone

b) an infirmary

c) a village

13) The poet personifies ‘peace’ as
a) a lively thought

b) a black shadow

c) an abstract thought

14) A child’s imagination can turn a seed into a
a) mustard, mountain

b) lemon, pillar

c) cinnamon, mountain

15) ‘Hovel’ means

a) a big, lavish home

b) a small, untidy house

c) a sweet, melodious song

Q.3 Rearrange the jumbled words to make meaningful sentences —

(a)and/ his/ word/ thoughtful/ keeps/ is/ always/ gentleman/ true/ a
(b)to/keep/and/hasten/promise/it /will be/he/slow to/a/make

(c) friendship /a /you /broken /cost /promise /your /can

(d) promise/ is / true/ a/ forever/ friendship/ you/ keep

Q.4 The given passage is not edited. There is one error in each line. Identify the error




and write the incorrect & then correct answer in the space provided -

Incorrect Correct
Discipline is a structural and fundamental unit a)
of a success person. It is essential for us at home, b)
for soldiers on the battlefield, for students at school, for c)
players in the playground. A team of experience players d)
can also lose a match because to indiscipline in the team. e)
Every tough battle can be win by a disciplined army. f)
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Class Notes

Class: VIII Topic: Worksheet

Subject: Mathematics

Choose the correct answer:-

1. A polynomial contains number of terms:
(a) One (b) Two (c) Three (d)Any

2. The result of subtraction of 3x from -4x is
(@)-7x  (b)7x  (c) x (d) -x.

3. The product of 4mn and 0 is
()0 (b)1 (c)mn (d) 4mn.

4. The area of a rectangle whose length and breadth are 9y and 4y? respectively is
(@) 4y* (b)9y* (c)36y* (d)13y?

5. If we subtract 4a — 7ab + 3b + 12 from 12a — 9ab + 5b — 3, then the answer is:
(a) 8a+2ab +2b+15 (b) 8a + 2ab + 2b - 15 (c)8a—2ab+2b-15 (d) 8a—2ab—-2b-15

6. The common factor of 8a’b*c?, 12a*bc?* and 20a3b* is
(a) a*b* (b) a%b? (c) 4a%b? (d) 4a%b.

7.The factorization of ax + bx —ay — by is
(@) (x—y)@a+b) (b)(x+y)(a+b) (c) (x—y)(a—-Db) (d) (x+y)(a—Db).

8.The factorization of x2y? + xy + xy%z + yz + x’yz + xz is
(@) (xy +yz+zx)(xy +1)  (b) (xy +yz +zx)(yz + 1) (c) (xy +yz + zx)(zx + 1) (d) none of these.

9.The factorization of (I + m)>—4lmis
(@) (I-m)? (b) (I + m = 2)? (c) (I+ m+2)? (d) none of these.

10.The factorization x> + x + 1/4 is
(a) (x/2-1)? (b) (x/2 +1) (c) (x +1/2) (d) (x=1/2)

11.The factorization of 22— 4z-12 is
(a) (z+6)(z+2) (b) (z—6)(z—2) (c) (z—6)(z+2) (d) (z+6)(z—2)

12.1L=
(a)10cm®  (b) 100cm®  (c) 1000 cm? (d) 10000 cm3

13. The area of the quadrilateral is
2cm

2cm
(@a)3.75ecm?  (b)3cm?  (c) 7.5cm? (d) 10 cm?




14. x and y vary inversely with each other. If x =15 when y = 6, then the value of x wheny =15 is
(a) 2 (b) 4 (c)5 (d)6

15.If x and y are directly proportional, then:
(a) x+y=constant  (b)x-y=constant (c)x/y = constant (d) xy = constant

16. 3 lambs finish eating turnips in 8 days. In how many days will 2 lambs finish them ?
(@ 6 (b)8 (c)10 (d)12

17. 6 pipes are required to fill a tank in 1 hour. How long will it take if only 5 pipes of the same type are
used ?
(a) 75 minutes  (b) 72 minutes (c) 80 minutes (d) 90 minutes

18. Two cubes each with side b are joined to form a cuboid. What is the surface area of this cuboid?
(a) 12b%  (b) b2 (c) 10b? (d)12

19. If each edge of a cube is tripled, how many times will its volume increase?
(a) 6times (b) 9times (c) 27times (d) remains same

20. If each edge of a cube is doubled, how many times will its surface area increase?
(a) 4times (b) 8times (c) 2times (d) remains same

SUBJECTIVE QUESTIONS

Q.1 Factorize the following expression
(@) x>+ xy + 8x + 8y

(b) (bxy + 3x) + (2y + 1)

(c) z—=7+7xy—-xyz

(d) 54m3n + 81m*n?

(e)z2-10z+21

(f)z2+62—-16

Q.3 Simplify the following

(a) (x*-y?)* + 4x?y?

(b) (0.5p -—1.5¢)%—(0.5p — 1.5q)* +p?q?
(c) 39n3(50n?-98 ) + 26n%(5n —7)

(d) 44(p* - 5p° - 24p?) + 11p(p - 8)

(e) 9p%q? (32— 12) + 27pq(z — 4)

(f) (4x*>—100) = 6(x + 5)

Q4.Solve the following:

(@) Add:  PP+m? m?+n?% n?+12 2lm+2mn + 2nl

(b) Subtract: 3xy + 5yz— 7zx from 5xy — 2yz — 2zx + 10xyz
(c) Multiply:  (p*-q*)(2p +q)

Q4.Simplify:

(a) (@a+b)(c—d)+(a—b)(c+d)+2(ac+ bd)
(b) (1.5x—4y)(1.5x +4y +3)—4.5x + 12y
(c) (@a+b+c)(a+b-c¢)

Q5. A train is moving at a uniform speed of 75 km/hour.
(i) How far will it travel in 20 minutes?
(ii) Find the time required to cover a distance of 250 km.




Q6. The scale of a map is given as 1:40000000. Two cities are 5 cm apart on the map. Find the actual
distance between them.

Q7. A godown is in the form of a cuboid of measures 60 m x 40 m x 30 m. How many cuboidal boxes can be
stored in it if the volume of one box is 0.8 m3?

Q8. A rectangular piece of paper 11 cm x 4 cm is folded without overlapping to make a cylinder of height 4
cm. Find the volume of the cylinder.

Q9. The lateral surface area of a hollow cylinder is 4224 cm?. It is cut along its height and formed a
rectangular sheet of width 33 cm. Find the perimeter of rectangular sheet?

Q10. After the surface area of a cube is painted, the cube is cut into 64 smaller cubes of same dimensions.
How many have no face painted? 1 face painted? 2 faces painted? 3 faces painted?
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PRACTICE WORKSHEET

Class:8 Topic: chapter- 13
SOUND

Subject: SCIENCE

Note-MCQ’s-To be downloaded/written in notebook.

Subjective questions-To be written in notebook.

MULTIPLE CHOICE QUESTIONS

1.Alist of medium is given below-

(a) Wood

(b) Water

(c) Air

(d) Vacuum

which of these mediums can sound travel?
(@) (i) and (ii)

(b) (i), (ii) and (iii)

(c) (iii) and (iv)

(d) (ii), (iii) and (iv)

2.The loudness of a sound depends on:
(@) itsamplitude.

(b) itsfrequency.

(c) itstime period.

(d) its speed.

3. Which of the following statements are correct?

(i) Sound is produced by vibrations.

(if) Sound requires a medium for propagation.

(iii) Light and sound both require a medium for propagation.

(iv) Sound travels slower than light.

(@) 1 &iionly

(b) i, ii &iii only

(c) i, iii &ivonly
(d) i, ii &ivonly

4.1n order to reduce the loudness of a sound, we have to-
(a) decrease its frequency of vibration of the sound.
(b) Increase its frequency of vibration of the sound.
(c) Decrease its amplitude of vibration of the sound.

(d) Increase its amplitude of vibration of the sound.

5. There are two bottles of glass, one bottle is two third filled with water and another bottle is filled one
third with water. When we blow across the mouth of each bottle, then

(i) The bottle with the less air in it gives the note of higher pitch.

(i) The shorter the air column, the higher the pitch of the note produced.




A) Both(i) and (ii) are correct and (ii) is the correct explanation of (i).

B) Both (i) and (ii)are correct but (ii) is not the correct explanation of (i).
C) Only (i) is correct.
D) Only (ii ) is correct.

6. The sound wave with high frequency can be given by

/\ (\ /\/
Y N

o WYYV

D) FYYYY VN

7.

Statement1: Sound would travel faster on a hot summer day than on a cold winter day.

Statement2: Speed of sound depends on temperature.

A) Both statements 1and 2 are true and statement 2 is the correct explanation of statement 1.
B) Both statements land2 are true but statement 2 is not the correct explanation of statementl.
C) Statement 1is true and statement 2 is false.

D) Both statementsland 2are false.

8.Ultrasounic sound has frequency of vibration
(@) between 20and 20,000Hz

(b) below20 Hz

(c) above 20,000Hz

(d) between 500 and 10,000Hz

9. The 3 small bones of
the middle ear are:

the middle ear are:

a) malleus, incus, stapes
b) malleus, incus, pinna
¢) malleus, pinna, stapes
d) None of the above

10. A student performed an experiment as shown in the figure.




Glass jar

Ringing electric bell

l Vacuum pump

What would have happened as air was pumped out of the jar and the electric bell
rang?

A) The sound became louder.
B) The sound became fainter first and then louder once all the air was pumped out.

C) The sound could not be heard anymore.
D) The sound was the same as before.

SUBJECTIVE QUESTIONS- TO BE WRITTEN IN NOTEBOOK

1. We have astringed musical instrument. The string is plucked in the middle first with a force of greater
magnitude and then with a force of smaller magnitude. In which case would the instrument produce a

louder sound?

2. Two astronauts are floating close to each other in space. Can they talk
to each other without using any special device? Give reasons.
3. Lightning can be seen at the moment when it occurs. Paheli observes lightning in her area. She
heard the sound 5 sec after she observed lightning. How far is she from the place where lightning
occurs? (speed of sound=330m/s).

4. A simple pendulum makes 10 oscillations in 20s. What is the time period and frequency of its
oscillations?




CONFRONTING MARGINALISATION

Fill in the blanks.

1. of the Indian Constitution states that untouchability has been
abolished.
2. of the Constitution of India notes that no citizen of India

shall be discriminated against on the basis of race,caste,gender or place of
birth.

3. There are specific and for the marginalised in the country.

Multiple choice questions

1)C.K.Janu an Adivasi activists, has pointed out that one of the violation of the
Constitutional rights guaranteed to tribal people are the governments in
various states who allow non-tribal encroachers in the form of

a)Timber merchants
b)Paper Mill owners
c)Industrialists

d)All of these

2)Reservation policy plays an important role in providing social justice to

[)Dalits [I)Adivasis [II)Christians IV)Muslims
a)land I

b)l and llI

c)lland I

d)l and IV




3).Kabir who was a fifteenth century poet and weaver belonged to
movement.

a)Sufi

b)Virshaiva

c)Bhakti

d)Sikh

Define the following.
a)Dispossed
b)Ostracise

c)Assertive

Answer the following questions.
1.Name a few marginal groups in India.

2.Explain the meaning of the term confront with an example?

CASE STUDY
Read the passage given below and answer the following questions.

The powerful castes decided to teach Rathnam a lesson. Hiscommunity was
ordered to ostracise him and his family,and everyone was told that no one
should speak or do anywork for them or with them. One night some men
enteredtheir part of the village and set his hut on fire. He managedto escape
with his mother. Rathnam, then went to file acase in the local police
station under the Scheduled Castesand the Scheduled Tribes (Prevention
of Atrocities) Act,1989. Other Dalit families still did not come out in
hissupport as they were scared that a similar fate might awaitthem if
they spoke out. The case was picked up by the localmedia that led to many




journalists visiting the village.Rathnam was written about as a symbol of
Dalit action.

Q.1) In your opinion does the forceput on Rathnam to performthis ritual
violate his Fundamental Rights?

Q.2) Why do you think the Dalit families were afraid of angering the
powerful castes?

CH.8,Women caste and Reform

1)Who supported the idea of self-respect movement?
(a) Mumtaz Ali

(b) Rammohun Roy

(c) Periyar

(d) Pandita Ramabai

2)The idea of widow remarriage was advocated by
(a) Dayanand Saraswati

(b) Jyotirao Phule

(c) Periyar

(d) Pandita Ramabai

3)The Satyashodhak Samaj association was founded by
(a) Mumtaz Ali

(b) Periyar

(c) Jyotirao Phule

(d) B.R. Ambedkar

4)Who started schools for Muslim girls in Patna and Calcutta?
(a) Mumtaz Ali
(b) Begum Rokeya Sakhawat Hossain




(c) Sayyid Ahmed Khan
(d) None of these

5)Match the column.

Column A Column B
A. Suffrage 1. Traders and moneylenders
B. Sati 2. Right to vote
C. Vaishyas 3. Animportant untouchable
caste of Andhra Pradesh
D. Madigas 4. The women who died on the
funeral of her dead husband

a) A-2,B-4,C-1,D-3
b) A-1, B-2,C-3,D-4
c) A-2, B-3,C-4,D-1
d) A-3, B-2,C-4,D-1

6) was the founder of Arya Samaj in India.

A) Swami Dayananda Saraswati
B) Raja Rammohan Roy

C) B C Chattopadhyaya

D) Justice Ranade

7) Widows’ Home in Poona was established by

A) Tarabai Shinde
B) Rokeya Hussain
C) Pandita Ramabai
D) Savitribai Phule

8) Stripurushtulana was written by
A) Ramabai Ranade

B) Begum Rokya Shakhawat Hussain
C) Tarabai Shinde

D) Begum Kausar Bai

9) were first to set up schools for lower caste and tribal children.




A) Christian missionaries
B) Brahmo Samaj
C)Prerna Samaj

D) Prarthana Sabha

10) Followers of Brahmo Samaj started another one in Bombay in 1867.
Name this Samaj that fought against social customs like child marriage and
remarriage for widows.

(a) Ramakrishna Mission

(b) Theosophical Society

(c) Prarthana Samaj

(d) Arya Samaj

11) Under which Governor General did Raja Ram Mohan Roy initiative to ban
Sati?

(a) Lord Mountbatten

(b) William Bentick

(c) Lord Dalhousie

(d) Lord Ripon

12) Few important points with respect to Raja Ram Mohan Roy are given
below. Select the one that is not true.

(a) Through Brahmo Samaj he attempted to reform Hindu society

(b) Rajaram Mohan Roy encouraged the study of local languages and wanted
to abolish Western education.

(c) He tried to show through his writings that the practice of widow burning
had no sanction in ancient texts.

(d) Rabindranath Tagore called him as the Father of Indian Renaissance

13) Name the social reformer who worked for the upliftment of women in
Maharashtra.

(a) Jyotirao Phule
(b) Rama Bai Ranade
(c) Syed Ahmed Khan
(d) Annie Besant




14) Assertion- From the early nineteenth century, we find debates and
discussion about social customs and practices increased to large extent.
Reason- There was a new form of communication developed for the first
time.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A
c) Aistrue, but R is false

d) Aisfalse, but R is true

15)Assertion- The poor from the villages and small towns, many of them
from low castes, began moving to the cities.

Reason- Low castes saw the demand of labour in plantation and construction
work as an opportunity to get away from the oppressive hold that upper-
caste Exercised over their lives.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true, but R is not the correct explanation of A
c) Aistrue, but R is false

d) Ais false, but R is true

16)Who said that “ Aryans were foreigners, who came from outside the
subcontinent, and defeated and subjugated the true children of the country”.

a) Jyotirao Phule

b) Shri Narayan Guru

c) Dr.B.R.Ambedkar
d) Ramaswamy Naicker

17) Answer the following questions.
a)How did the knowledge of ancient texts help the reformers promote new
laws?

b)What did Ambedkar want to achieve through the temple entry movement?
c) How did women involve themselves in their upliftment?

HUMAN RESOURCES

Mark the following places an outline map of India.




e State and UT highest density of population:- Bihar(State) Delhi(UT)

State and UT with lowest density of population:-

Pradesh(State)- Andaman and Nicobar island(UT)-

Highly populated state — U.P.

Lowest populated state — Sikkim
=

State with highest literacy — Kerala
State with lowest literacy — Bihar

»x

e P

OUTLINE MAP WITH STATES

INDIA

& UNION TERRITORIES

Arunachal

2) Compare and contrast the population pyramid of Kenya and Japan with that

of India and write your observations and interpretations in points.
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3)Answer the following Questions:
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Japan

a. Sixty percent of the world’s people stay in just 10 countries. All of them have
more than a 100 million people. Explain the factors affecting the distribution of
population.

b. Elucidate the role of migration in population change.

c. Human resource is considered as the ‘ultimate resource’. Why?






